Global History II



Review Unit #16



               Quiz





Name _________________________________________

__2__1.  A major cause of World War I was

1. a decline in the policy of imperialism 

2. the existence of opposing alliances 

3. an increase in acts of aggression by England 

4. the spread of communism throughout Europe
__1__ 2.  Which of the following is a result of World War I in Europe:

1. new nations began in place of many old kingdoms and empires

2. Germany benefited in many ways because of their victory

3. Japan was forced to stop trading with European nations

4. militarism came to an end throughout Europe

___3_ 3.  Which idea was included in the provisions of the Treaty of Versailles to show the intent of the 
               Allies to punish the Central Powers for their role in World War I?

1. all nations shall maintain open covenants of peace 

2. freedom of the seas will be maintained 

3. Germany will accept full responsibility for causing the war 

4. territorial settlements shall be made along clearly recognizable lines of nationality 

__3__ 4.  The major impact of the Treaty of Versailles on Germany was that the treaty led to

1. an era of peace and international good will in Germany 

2. a stable Germany that was both democratic and strong 

3. an increase in Germany’s desire to regain its power and prestige 

4. a leadership position for Germany in the League of Nations 

___2_ 5. In the 1920’s and 1930’s, the rise of totalitarian governments in Germany, Italy, and Spain was largely the result of

1. the success of the Communists in establishing a command economy in the Soviet Union 

2. severe economic and social problems that arose in Europe after World War I 

3. the active support of the United States 

4. movements demanding the return of the old monarchies 

_3__ 6.  Censorship, mass arrests, and a secret police force are most characteristic of:
1. Parliamentary Democracies 

2. Republics 

3. Totalitarian regimes 

4. Constitutional Monarchies
___2_ 7.  During the 1930's, the Nazi (National Socialist) Party received support
              from the German people because it promised to

1. abide by the Versailles Treaty.
2. improve economic conditions in Germany.
3 promote policies that insured ethnic equality.
4. utilize international organizations to solve Germany's problems

___1_ 8.  The harsh conditions imposed by the Treaty of Versailles after World War I helped lay the 
                foundation for the

1. rise of fascism Germany 

2. uprisings during the French Revolution 

3. division of Korea along the 38th parallel 

4. Bolshevik Revolution in Russia 

___2_ 9.  Between the Meiji Restoration and World War II, Japan tried to solve the problem of its scarcity 
               of natural resources by

1. exporting agricultural products in exchange for new technology 

2. establishing a policy of imperialism 

3. building nuclear power plants 

4. cooperating with the Soviet Union to gain needed resources 

___2_ 10.  Fascism in Europe during the 1920’s and 1930’s is best described as a

1. demonstration of laissez-faire capitalism that promoted free enterprise 

2. form of totalitarianism that glorified the state above the individual 

3. type of economic system that stressed a classless society 

4. set of humanist ideas that emphasized the dignity and worth of the individual 

__1__ 11.  In the 1930’s, the Japanese government followed a policy of imperialism primarily to

1. acquire new sources of raw materials 

2. spread Zen Buddhism throughout Asia 

3. sell more consumer goods to European nations 

4. spread the ideas of bushido 

__1__ 12.  What was one reason the Nazi programs and policies of the early 1930’s appealed to many 
                  people in Germany?

1. the people were frustrated with their current economic and political situation 

2. Germany had been denied membership in the United Nations 

3. a coup d’etat had forced communism on the German people 

4. the German people feared that the French of the British would soon gain control of the Polish corridor 
___3_ 13.  Which term best describes Nazi Germany's treatment of the Jews
                during World War II?

1.   tolerance 


2.   empathy 
3.   genocide 


4.   justice
· “Archduke Franz Ferdinand Assassinated!”
· “Germany Declares War on Russia and France!”
· “Peace Treaty Signed at Versailles!”
 
__1__ 14.  Which event is referred to in these headlines?

1. World War I 

2. Crimean War 

3. World War II 

4. Cold War 

___3_ 15.  World War II is often considered to be a turning point in history because

1. the League of nations demonstrated that an international organization could maintain world peace 

2. the war brought an end to dictatorships as a form of government 

3. European domination of the world began to weaken as nationalism in colonies increased 

4. religious and ethnic differences were no longer a source of conflict between nations 

__3__ 16.  Which reform took place in Japan after World War II?

1. Japan’s industrial capability was greatly reduced 

2. the Emperor’s position was abolished 

3. Japan became a representative democracy 

4. labor unions were declared illegal 

__4__17.  Which is one major reason the Holocaust is considered a unique event in modern European 
                history?

1. Jews of Europe have seldom been victims of persecution. 

2. Civilians rarely were killed during air raids on Great Britain. 

3. Adolf Hitler concealed his anti-Jewish feelings until after he came to power. 

4. The genocide was planned in great detail and required the cooperation of many people. 

___2_  18. Trench warfare is a phrase that best describes which event:


1.      Imperialism



2.    World War I


3.      The Holocaust



4.     World War II

__3__ 19.  Which of the following was a strong belief of Adolf Hitler and the Nazis in Germany:

1. they wanted to end the Aryan race as a people

2. they thought that Germany should reduce its size and concentrate on the German people

3. they believed using propaganda was a great way to teach the Germans their ideas

4. they thought using the Jews in key economic positions was the way to German greatness

__3__ 20.  Which of the following is true about World War II:

1. all of the fighting took place in Western Europe

2. it began with Japan’s attack on Pearl Harbor, Hawaii

3. Russia got out of the war earlier than other Allied nations

4. the main fighting took place in both Europe and Asia  
